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QUESTION 1

An administrator must ensure enrolled corporate owned Android Enterprise devices do not update during the holiday
season. Which is VMware\\'s recommended best practice to accomplish this?

A. Deliver "Restrictions\\' profile that disables Play Store on devices.

B. Deliver "System Updates\\' profile with change freeze payload.

C. Deliver "System Updates\\' profile that defers updates up to 30 days.
D. Deliver "Restrictions\\' profile that disables chrome on devices.
Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-UEM/2005/Android_Platform/GUID-AWT-
PROFILESYSTEMUPDATE.html

QUESTION 2

Which is the only method to deploy Content Gateway when using Workspace ONE 20.01 and higher versions?
A. Legacy Windows

B. UAG

C. Legacy Linux

D. Standalone

Correct Answer: B

QUESTION 3

Which underlying technology does Workspace ONE Access use to collect Workspace ONE UEM device information?
A. SOAP API

B. REST API

C. AirWatch Cloud Connector (ACC)

D. Security Assertion Markup Language (SAML)

Correct Answer: C

QUESTION 4

An existing Workspace ONE environment contains 20,000 users/devices. An additional 25,000 users/devices are
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planning to be added to the system. The total number of users will be 45,000. Which is VMware\\'s best practice
recommendation for determining the additional hardware that may be required?

A. Add an additional server at each node to ensure overhead for the new device addition.

B. No scaling will be needed for the additional device count and load on the environment.

C. Review the latest recommended architecture documentation for server scalability recommendations.

D. Review recommended architecture documentation from any version for server scalability recommendations.

Correct Answer: C

QUESTION 5

An administrator wants to create a new Workspace ONE Access Policy that is specific only to a newly created IP
subnet.

Which three Workspace ONE Access Policy settings would the administrator set? (Choose three.)
A. network range

B. authentication method

C. subnet range

D. device type

E. attribute type

F. assignment method

Correct Answer: ABF
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